Ferrule For SAE 100 R1 EN 853 1SN Hose

Part. No L DN
L 00110-04 30. 5 6
B T 00110-05 30 8
00110-06 32 10
00110-08 34 12
00110-10 37 16
00110-12 42 20
Y 100110-16 51 25
00110-20 59 32
00110-24 74 40
00110-32 78 50
Ferrule For SAE 100 R2AT DIN 20022 2SN Hose
Part. No L DN
00210-04 30 6
L 00210-05 31 8
, 100210-06 32 10
Al-n‘mﬂd 00210-08 34 12
= 00210-10 37 16
00210-12 43 20
00210-16 50 25
00210-20 59 32
00210-24 74 40
00210-32 78 50
NOTE: not recommend for engineering machine
Ferrule For DIN/EN 853 1SN/2SN Hose
Part. No L DN
L 03310-04 27 6
03310-05 30 8
' 03310-06 31 10
03310-08 32 12
- = 103310-10 34 16
03310—-12 37 20
03310-16 43 25
03310-20 50 32
03310-24 59 38
03310-32 74 50
Ferrule For 4SP, 4SH/12-16, R12/06-16 Hose
Part. No L DN
00400-04 37.5 6




T
4

s

00400-06 39 10

00400-08 41 12

00400-10 43 16

00400-12 51 20

00400-16 61.5 25

00400-20 67.5 32

00400-24 75 40

00400-32 79 50

Part. No Thread E DN A C S1
10311-12-04 [M12X1.25 6 [22.5] 10 14
10311-14-04 [M14X 1.5 6 |23.5] 11 17
10311-16-04 [M16X1.5 6 |23.5] 11 17
10311-16-05 |M16X1.5 8 [23.5] 11 17
10311-16-06  |M16X1.5 10 [23.5] 11 17
10311-18-06  |M18X1.5 10 [23.5] 11 19
10311-22-05 |M22X1.5 8 27 12 22
10311-22-06  |M22X1.5 10 | 26 12 22
10311-22-08 |M22X1.5 12 126.5] 12 22
10311-27-10 |M27X1.5 16 [31.5] 13 27
10311-30-12 [M30X1.5 20 133.5] 14 32
10311-36-12  [M36X2 20 |35.5] 16 38
10311-36-14  [M36X2 22 |13b.5] 16 38
10311-39-16  [M39X2 25 |1 39 16 41
10311-45-20 [M45X2 32 [44.5] 20 46
10311-52-24  [Mb2 X2 40 [47.5] 22 55
10311-64-32  [M64 X2 50 | b2.5] 27 65
Part. No Thread E DN A C S1
10411-12-04 [M12X1.5 6 [20.5] 10 12
10411-14-04 [M14X 1.5 6 [20.5] 10 14
10411-14-05 |M14X1.5 8 [21.5] 10 14
10411-16-04 [M16X1.5 6 |22.5] 11 17
10411-16-05 |M16X1.5 8 [22.5] 11 17
10411-16-06  |M16X1.5 10 |122.5] 11 17
10411-18-05 |M18X1.5 8 [23.5] 11 19
10411-18-06  |M18X1.5 10 |121.5] 11 19
10411-22-06  |M22X1.5 10 |24.5] 12 24
10411-22-08 |M22X1.5 12 | 26 12 24
10411-26-08 |M26X1.5 12 126.5] 12 27
10411-26-10 |M26X1.5 16 | 27 12 27
10411-27-10 |M27X1.5 16 [ 32 14 30
10411-30-10 [M30X2 16 | 29 14 32
10411-30-12  [M30X 2 20 | 29 14 32
10411-36-16  |[M36X2 25 |31.5] 14 38




10411-45-20  [M45% 2 32 | 36 | 16 | 46
10411-52-24  [M52X2 40 | 38 | 16 | 55

Part. No Thread E DN A C S1

R 10412-14-04  [M14X 1.5 6 [22.5 14

C 10412-16-05 [M16X 1.5 8 | 24 17

e e [loa12-18-06 [uisx15 |10 ] % 19
i {Nﬂ : _— 10412-22-08  [M22X 1.5 12 | 26 24
i JHJM]JM T T e T T
s 10412-30-12  [M30Xx 2 20 [30.3 32
10412-36-16  [M36 X2 25 | 32 41

10412-45-20  [M45X 2 32 [36.5 46

10412-52-24  [M52X2 40 | 38 24

Part. No Thread E DN A C S1

10511-14-04 [M14X 1.5 6 [24.1] 12 | 14

10511-16-04 [M16X 1.5 6 [26.5] 12 | 17

— 10511-18-04 [M18X 1.5 6 [26.5] 12 | 19
- 10511-20-05 [M20X 1.5 8 |27 ] 12 ] 2
i 10511-20-06  [M20X1.5 | 10 [26.5] 12 | 22
‘“L” TN 10511-22-05  [M22X 1.5 8 |30.5] 14 | 24
'*w 10511-22-06  [M22X 1.5 19 [30.5] 14 | 24
> 10511-22-08  [M22X 1.5 12131 ] 14 ] 24
10511-24-08 [M24X 1.5 12 |31.5] 14 | 27

10511-30-10  [M30 X2 16 ] 36 | 16 | 32

10511-30-12  [M30X2 20 | 36 | 16 | 32

10511-36-12  [M36X2 20 [40.5] 18 | 38

10511-36-16  [M36 X2 25 [41.5] 18 | 38

10511-42-16  [M42 X2 o5 | 44 | 20 | 46

10511-42-20  [M42 X2 32 | 45 | 20 | 46

10511-52-20  [M52 %2 32 | 50 | 22 | 55

Part. No Thread E DN A C S1

10512-16-04 [M16X 1.5 6 [27.5 17

A 10512-18-04 [M18X 1.5 6 [27.5 19
L%J 10512-20-05  |M20X 1. 5 8 | 30 22
r-wﬂf ez |10512-22-06  |M22X 1.5 10 | 32 24
o ol et [10512-24-08 [M24x 1.5 | 12 | 30 27
b [H]MM 10512-30-10 [M30X 1.5 16 [37.5 32
€ 10512-36-12  [M36 X2 20 [41.8 38
10512-42-16  [M42 X2 25 | 44 46

10512-52-20  [M52 X2 32 [50.5 55




G[ [ [

Part. No Thread E DN A C S1
10611-14-04 |M14X1.5 6 |23.5] 11 19
10611-14-06  |M14X 1.5 10 | 24 11 19
10611-16-04 |M16X1.5 6 |27.5] 12 22
10611-16-05 |M16X1.5 8 126.5] 12 22
10611-18-06  |M16X1.5 10 [29.5] 12 24
10611-22-06  |M18X 1.5 10 130.5] 14 27
10611-22-08 [M22X 1.5 12 | 32 14 27
10611-24-10 |[M22X1.5 16 | 35 14 30
10611-26-10 |[M24X 1.5 16 | 35 16 32
10611-27-10-D |M26 X 1.5 16 | 35 16 32
10611-27-10  [M27 X2 16 | 37 18 32
10611-30-12-D [M36X 1.5 20 | 38 18 36
10611-30-12  |[M30X2 20 | 38 18 36
10611-33-16  [M33X2 20 | 43 20 46
10611-42-20 |[M42X2 32 | 46 20 50
10611-45-20  [M45X 2 32 | 46 20 55
10611-48-24  |[M48X2 40 | 46 20 55
10611-52-24 |M52X2 40 | 46 20 60
Part. No Thread E DN A C S1
10711-10-02 |M10X1 4 23 [12.5] 14
10711-10-03 |M10X1 5 23 [12.5] 14
10711-12-03 [M12X1.5 5 [26.5]15.7[ 14
10711-12-03C |M12X1. 25 5 [24.5] 14 14
10711-14-04 [M14X1.5 6 |30.5] 18 17
10711-14-06  |M14X1.5 10 [30.5] 18 17
10711-16-05 |M16X1.5 8 [31.5] 19 17
10711-16-06  |M16X1.5 10 [31.5] 19 17
10711-18-06  |M18X1.5 10 [31.5] 19 19
10711-22-08 |M22X1.5 12 | 35 |19.5] 22
10711-24-08 |M24X1.5 12 | 37 20 24
10711-27-10 |M27X1.5 16 [38.5]20.5] 27
10711-30-12  |M30X1.5 20 142.5] 23 32
10711-30-12-E [M30 X2 20 |45.5] 26 32
10711-33-12  [M33X2 20 | 45 26 36
10711-36-14  [M36 X2 22 | 45 26 38
10711-39-16  [M39 X2 20 | 48 127.5[ 41
10711-42-20 |M42X2 32 | 52 |28.5| 46
10711-45-20 |[M45X2 32 | 52 |28.5| 46
Part. No Thread E DN A C S1
10811L-12-04 M12X1.5 6 46 34 17
10811L—-12-04A |M12 X1 6 |44.5]32.5| 17




108111.-14-04 |M14X1.5 6 46 34 19
108111.-14-06 [M14X 1.5 10 |46.5] 34 19
108111L.-16-04 |M16X 1.5 6 |46.5] 34 22
108111L-16-06 [M16X 1.5 10 [46.5] 34 22
10811L-20-06 [M20X 1.5 10 | 57 40 27
10811L.-20-08 [M20X 1.5 12 |57.5| 40 27
108111L-22-08 [M22X 1.5 12 [62.5] 45 27
Part. No Thread E DN A C S1
12211-04-04 [G1/4X 19 6 [23.5] 11 19
12211-04-06  [G1/4X 19 10 123.5] 11 19
12211-06-06  [G3/8X 19 10 126.5| 12 22
- 112211-08-04  [G1/2X 14 6 [33.5] 14 27
ﬂ]]ﬂ”[l]]]j 12211-08-06 |G1/2X 14 10 [33.5] 14 27
12211-08-08 |G1/2X 14 12 | 34 14 27
12211-10-10 |G5/8X 14 16 | 36 |15.5] 30
12211-12-10  |G3/4X 14 16 133.5]15.5] 32
12211-12-12  |G3/4X 14 20 | 38 | 15.5] 32
12211-12-16  |G3/4X 14 25 | 36 |15.5] 32
12211-16-16  |G1 X 11 25 |44.5]18.5| 41
12211-20-20 |G1.1/4X14 | 32 | 46 20 50
Part. No Thread E DN A C S1
12611-02-03 [G1/8X 28 5 22 10 12
12611-04-04 [G1/4X 19 6 |24.5] 12 14
12611-06-05 [G3/8X 19 8 260 |13.5] 17
12611-06-06 [G3/8X 19 10 127.5]13.5] 17
12611-06-08 |G3/8X 14 12 [26.5]13.5[ 19
12611-08-06 |G1/2X 14 10 [30.5] 16 22
12611-08-08 |G1/2X 14 12 | 31 16 22
12611-10-08 |G5/8X 14 12 [32.5[17.5[ 24
12611-10-10 |G5/8X 14 16 [33.5[17.5| 24
12611-12-08 |G3/4X 14 12 |135.5]18.5] 27
12611-12-10 |G3/4X 14 16 | 37 |18.5] 27
12611-12-12  |G3/4X 14 20 [36.5] 18.5] 27
12611-16-12 |G1X11 20 [40.5]20.5] 36
12611-16-16  |G1 X 11 25 |41.5]20.5] 36
12611-20-16  [G1.1/4X11 | 25 |43.5/20.5]| 46
12611-20-20 [G1.1/4X11 | 32 |44.5|20.5] 46
12611-24-20 |G1.1/2X11 | 32 | 49 23 50
12611-24-24 |G1.1/2X11 | 40 | 46 23 50
12611-32-32  |G2X 11 50 [53.5]25.5] 65
[Part. No |Thread E._ [ DN A [ Cc [ s1




12611A-02-03 [G1/8X 28 5 22 10 14
12611A-04-04 |[G1/4X 19 6 |24.5] 12 19
12611A-04-05 |[G1/4X 19 8 [24.5] 12 19
12611A-06-05 [G3/8X 19 8 26 [ 13.5] 22
12611A-06-06 [G3/8X 19 10 [ 28 | 13.5] 22
12611A-06-08 [G3/8X 19 12 128.5]13.5] 22
12611A-08-06 |G1/2X 14 10 | 33 16 27
12611A-08-08 |G1/2X 14 12 133.5] 16 27
12611A-08-10 |G1/2X 14 16 | 32 16 27
12611A-10-08 |G5/8X 14 12 | 35 |17.5] 30
12611A-10-10 |G5/8X 14 16 | 36 |17.5] 30
12611A-12-08 |G3/4X 14 12 136.5]18.5] 32
12611A-12-10 |G3/4X 14 16 |37.5]18.5] 32
12611A-12-12 |G3/4X 14 20 [37.5]18.5] 32
12611A-16-12 |G1X11 20 142.5]120.5| 41
12611A-16-16 |G1X11 25 [43.5]20.5[ 41
12611A-20-16 |[G1.1/4X11 | 25 |45.5/20.5] 50
12611A-20-20 |[G1.1/4X11 | 32 |46.5/20.5] 50
12611A-24-24 |G1.1/2X11 | 40 | 49 23 55
12611A-32-32 |[G1.1/2X11 | 50 |54.5|25.5] 70
Part. No Thread E DN A C S1
12612-04-04 [G1/4X 19 6 |2b5.5] 12 14
12612-06-06 [G3/8X 19 10 127.5]13.5] 17
12612-08-08 |G1/2X 14 12 | 32 16 22
12612-10-10 |G5/8X 14 16 | 34 [17.5] 24
12612-12-12  |G3/4X 14 20 [37.8]18.5] 27
12611-16-16 |G1 X 11 25 |42.5]120.5] 36
12612-20-20 [G1.1/4X11 | 32 | 45 |20.5]| 46
12612-24-24 |G1.1/2X11 | 40 | 49 23 50
12612-32-32  |G2X 11 50 [54.5]25.5] 65
Part. No Thread E DN A C S1
13011-02-03SP [R1/8X 28 5 22 10 12
13011-02-04SP [R1/8 X 28 6 |22.5] 10 12
13011-04-04SP [R1/4X 19 6 27 [14.5] 14
13011-04-05SP [R1/4X 19 8 250 [15.4] 14
13011-04-06SP [R3/8X 19 10 | 27 | 14.5] 17
13011-06—04SP [R3/8 X 19 6 |27.5] 15 17
13011-06—05SP [R3/8X 19 8 ]26.5] 15 17
13011-06—06SP [R3/8X 19 10 |127.5| 15 17
13011-06-08SP |R1/2 X 14 12 | 30 20 19
13011-08-06SP |R1/2 X 14 10 [34.5] 20 22
13011-08—-08SP |R1/2 X 14 12 | 35 20 22
13011-08-10SP |R1/2X 14 16 | 38 20 22




13011-08-12SP |R1/2X 14 20 | 38 20 27
13011-12-08SP |R3/4 X 14 12 | 37 20 27
13011-12-10SP |R3/4 X 14 16 | 38 20 27
13011-12-12SP |R3/4 X 14 20 [38.5] 20 27
13011-12-16SP |R3/4 X 14 25 139.5] 20 32
13011-16-12SP |[R1 X 11 20 | 44 123.5] 36
13011-16-16SP |R1 X 11 20 | 45 |123.5] 36
13011-20-20SP [R1.1/4X 11 | 32 |49.5|26.5] 46
Part. No Thread E DN A C S2
20211-10-02 |MIO X1 4 14 6 14
20211-12-03 |M12X1.25 5 14 8 17
20211-14-04 |M14X1.5 6 |15.5] 8.5 ] 19
c A 20211-14-05 |M14X1.5 8 |15.5] 8.5 | 19
—— 20211-16-04 |MI6X1.5 6 |16.5] 8 22
20211-16-05 |MI6X1.5 8 ]16.5] 8 22
20211-16-06  |MI6X1.5 10 116.5] 8 22
b—djm_l—l—”-M—U'— 20211-18-05 T |MI8 X 1.5 8 |17.5] 8 24
_\%—2 20211-18-06  |MI8X 1.5 10 117.5] 8 24
20211-20-06-T |M20 X 1.5 10 | 16 10 24
20211-20-08 |M20X 1.5 12 [18.5] 10 27
20211-22-06-T |M22 X 1.5 10 | 16 10 27
20211-22-08 |M22X 1.5 12 [18.5] 10 27
20211-22-10 |M22X 1.5 16 119.5| 10 27
20211-24-08-T |M24 X 1.5 12 [16.5] 11 30
20211-24-10 |M24X 1.5 16 120.5]10.5] 30
20211-27-08-T |M27 X 1.5 12 [18.5] 10 32
20211-27-10-T |M27 X 1.5 16 119.5| 10 32
20211-30-12 |M30X1.5 20 |21.5] 11 36
20211-33-14 |M33X?2 22 |21.5] 13 41
Part. No Thread E DN A C S2
20241-14-04 |M14X1.5 6 |40.5] 8.5 | 19
20241-14-05 |M14X1.5 8 |42.7] 8.5 ] 19
20241-16-05 |MI6X 1.5 8 |44.4] 8.5 | 22
20241-18-06  |MI8X 1.5 10 145.7] 8 24
20241-22-08 |M22X1.5 12 158.9| 10 27
20241-27-10-T |M27 X 1.5 16 [71.2] 10 32
20241-30-12 |M30X1.5 20 [78.1] 11 36
20241-36-12-T |M36 X 2 20 | 75 13 41
20241-36-14-T |M36 X 2 22 177.3] 13 41
20241-36-16  |M36 X2 25 |85.7] 13 41
20241-39-16-T |M39 X 2 25 [83.9] 13 46
20241-42-20  |M42 X2 32 197.3] 15 50
20241-45-20-T |M45 X 2 32 194.5] 15 55




20241-52-20-T |M52 X 2 32 194.5] 17 60
20241-52-24-T |M52 X 2 40 | 109 | 17 60
Part. No Thread E DN A S2
20242-16-04 IMI6X 1.5 6 [42.3 22
20242-18-06  |MI8 X 1.5 10 [47.2 } 24
20242-22-08 |M22X1.5 12 [59.9| 24 27
20242-27-10 |M27X1.5 16 |71.7]126.4] 32
20242-30-12 |M30X1.5 20 179.4] 30 36
20242-36-14-T |M36 X 2 22 179.3] 27 41
20242-39-16-T |M39 X 2 25 [86.2]129.7] 46
20242-45-20-T |M45 X 2 32 196.5]33.8] 55
20242-52-24-T |M52 X 2 40 | 109 | 37.7] 60
20242-64-32-T |M64 X 2 50 | 129 | 45.6] 75
Part. No Thread E DN A C H S2
20291-12-02 |M12X1.25 4 126.5] 8 ]30.5] 17
20291-12-04 |M12X1.25 6 30 8 133.5] 17
20291-14-04 |M14X1.5 6 30 | 8.5 | 34 19
20291-14-05 |MI14X1.5 8 33 | 8.5 | 37 19
20291-16-04 |MI6X1.5 6 30 8 35 22
20291-16-05 |MI6X1.5 8 34 8 38 22
20291-16-06  |MI6X 1.5 10 135.3] 8 ]40.3] 22
20291-18-05-T |MI8 X 1.5 8 33 8 39 24
20291-18-06  |MI8 X 1.5 10 135.8] 8 |41.3] 24
20291-22-08 |M22X 1.5 12 | 41 10 48 27
20291-22-10 |M22X1.5 16 |57.5| 10 53 27
20291-24-08-T |M24 X 1.5 12 | 41 11 [45.5] 30
20291-27-04-T |M27 X 1.5 6 30 10 |35.5] 32
20291-27-08-T |M27 X 1.5 12 | 41 10 46 32
20291-27-10-T |M27 X 1.5 16 | 56 10 51 32
20291-30-12 |M30X1.5 20 [66.2] 11 |63.5] 36
20291-33-14 |M33X?2 22 | 71.2] 13 65 41
20291-36-14-T |M36 X 2 22 | 71.2] 13 61 41
20291-36-16  |M36 X2 25 176.7] 13 70 41
20291-39-16-T |M39 X 2 25 176.7] 13 |67.5] 46
Part. No Thread E DN A C H S2
20641-14-04 |M14X1.5 6 |42.7] 5.5 120.6] 19
20641-16-05 |MI6X 1.5 8 |45.1] 5.5 |21.8] 22
20641-18-06  |MI8 X 1.5 10 [47.4] 5.5 [23.2] 24
20641-22-08 |M22X 1.5 12 161.8] 6 |26.8] 27
20641-27-10-DTM27 X 1. 5 16 |71.4] 6 |27.1] 32




Ly

Xz 20641-30-12-D |M30 X 1.5 20 [81.6] 6 [33.5] 36
20641-36-14-T |M36 X 2 22 |81.9] 6.5 [31.6] 41
20641-39-16-T |M39 X 2 25 |88.5] 6.5 |34.3] 46
20641-45-20-T |M45 X 2 32 199.1] 8.5 138.4] 55
20641-52-24-T |M52 X 2 40 | 113 ] 10 |42.7] 60
Part. No Thread E DN A C H S2
20691-14-04 |M14X1.5 6 30 | 5.5 | 37 19
20691-16-05 |MI6X 1.5 8 33 | 5.5 [40.5[ 22
20691-18-06  |MI8X 1.5 10 135.3] 5.5 |43.8] 24
20691-22-08 |M22X 1.5 12 | 41 6 52 27
20691-27-10-DTM27 X 1. 5 16 |56.5] 6 58 32
20691-30-12-D |M30 X 1.5 20 [66.2] 6 |68.5] 36
20691-36-14-T |M36 X 2 26 | 78 |1 6.5 [76.5] 41
20691-36-16  |M39 X2 22 |71.2] 6.5 [67.5] 41
20691-39-16-T |M39 X 2 25 176.7] 6.5 | 74 46
20691-45-20-T |M45 X 2 32 191.5] 8.5 | 85 55
20691-52-24-T |M52 X 2 40 | 109 | 10 99 60
Part. No Thread E DN A C S2
20111-10-03 |MIO X1 5 18 | 2.5 | 14
20111-10-04 |MIOX 1 6 18 | 2.5 | 14

A 20111-12-04 |MI2X1.5 6 |18.5] 4 17
20111-12-05 |MI2X1.5 8 |18.5] 4 17

20111-14-04 |M14X1.5 6 |119.5] 4.5 ] 19

120111-14-05 [M14X1.5 8 119.5] 4.5 | 19
jﬂ-l_l—l-"-u-u-l—l-‘ 20111-16-04 [MI6X1.5 6 |19.5] 4.5 | 22
52 20111-16-05 [MI6X1.5 8 20 | 4.5 | 22
20111-16-06  |MI6X 1.5 10 [ 20 | 4.5 | 22

20111-18-05-T |MI8 X 1.5 8 |[21.5] 4 24

20111-18-06  |MI8X 1.5 10 [21.5] 4 24

20111-18-08 |MI8X 1.5 12 | 22 4 24

20111-20-06-T |M20 X 1.5 10 120.5] 5.5 | 24

20111-20-08 |M20X 1.5 12 | 23 | 5.5 | 27

20111-22-06-T |M22 X 1.5 10 | 23 5 27

20111-22-08 |M22X 1.5 12 [23.5] 5 27

20111-22-10 |M22X1.5 16 [24.5] b5 27

20111-24-08-T |M24 X 1.5 12 | 22 | 5.5 ] 30

20111-24-10 |M24X 1.5 16 | 26 5 30
20111-27-08-DTM27 X 1. 5 12 | 23 | 5.5 ] 32

20111-30-12-D |M30 X 1.5 20 [26.5] 6 36

20111-30-12  |M30 X2 20 [26.5] 7 36

20111-36-14-T |M36 X 2 22 | 26 7 41

20111-39-16-T |M39 X 2 25 [28.5] 7 46

20111-45-20-T |M45 X 2 32 |31.5] 8.5 | 55




[20111-52-24-T [M52 % 2 [40] 33| 9 [ 60 ]
Part. No Thread E DN A C H
20141-10-03  [M10X 1 5 [41.1] 2.5 [20.7
20141-10-04 [M10X 1 6 [43.2] 2.5 [21.5
20141-12-03 |M12x1.25 | 5 [40.9] 4 [21.2
20141-12-04 M12x1.25 | 6 | 43| 4 | 22
20141-14-04 |M14X 1.5 6 [43.4] 4.5 ]21.3
20141-14-05 |M14X 1.5 8 |45.5] 4.5 [22.2
20141-16-04 |MI16X 1.5 6 [43.7] 4.5[21.4
20141-16-05 |MI16X 1.5 8 |45.8] 4.5 [22.5
20141-16-06 |MI16X 1.5 10 [47.4] 4.5 [ 24. 1
20141-18-05-T [MI8X 1. 5 8 l46.8] 4 [22.6
20141-18-06 |MI8X 1.5 10 [48.5] 4 [24.2
20141-18-08 |MI8X 1.5 12 [52.2] 4 |25.7
20141-20-06-T [M20X 1. 5 10 |48.2] 5.5 [ 23.9
20141-20-08  [M20X 1.5 12 |62.1] 5.5 [ 27.2
20141-22-06-T |[M22X 1. 5 10 |58.4] 5 [25.7
20141-22-08  |M22X 1.5 12 [62.1] 5 [27.2
20141-24-08-T |[M24X 1. 5 12 |61.1] 5.5 [ 26.1
20141-24-10 |M24X 1.5 16 |75.4] 5 [29.6
20141-27-10-DM27 X 1. 5 16 |74.4] 5.5 [29.6
20141-27-10-T |M27 X2 16 |74.4] 5.5 [29.6
20141-30-12-D [M30X 1. 5 20 [80.9] 6 [33.5
20141-30-12  |M30Xx2 20 [80.9] 6 [33.5
20141-36-14-T |M36X 2 22 83| 7 [32.6
20141-39-16-T |M39X 2 25 [88.2] 7 | 34
20141-45-20-T |M45X 2 32 [99.1] 8.5 [38.4
20141-52-24-T |M52X 2 40 | 114 9 [43.4
Part. No Thread E DN A C H
20191-10-03  [M10X 1 5 | 27125355
20191-12-04 |M12x1.25 | 6 | 30 | 4 [37.5
20191-14-04 |M14X1.5 6 | 30 |45] 38
20191-14-05 |M14X 1.5 8 | 33 ]4as5] 41
20191-16-04 |MI16X1.5 6 | 30 |45][385
20191-16-05 |MI16X 1.5 8 | 33 |45]41.5
20191-16-06 |MI16X 1.5 10 |35.3] 4.5 [ 43.8
20191-18-05-T [MI8X 1. 5 8 [ 33] 4 | 43
20191-18-06 |MI8X 1.5 10 |35.5] 4 [45.3
- 20191-18-08 |MI8X 1.5 12 |40.5] 4 [50.5
20191-20-06-T [M20X 1. 5 10 |35.3] 5.5 | 44.8
S 20191-20-08  |M20X 1.5 12| 41 [ 5.5] 52
20191-22-06-T |[M22X 1. 5 10 |35.8] 5 [76.8
20191-22-08  |M22X 1.5 12| 41| 5 [52.5




20191-24-08-T |M24 X 1.5 12 | 41 | 5.5 | 51
20191-24-10 |M24X 1.5 16 | 58 5 |58.5
20191-27-10-DTM27 X 1. 5 16 | 56 | 5.5 |55.5
20191-27-10-T |M27 X 2 16 | 56 | 5.5 |55.5
20191-30-12-D |M30 X 1.5 20 [67.5] 6 [68.5
20191-30-12  |M30 X2 20 [67.5] 6 [68.5
20191-36-12-T |M36 X 2 20 [65.5] 7 68
20191-36-14-T |M36 X 2 22 | 71.2] 7 69
20191-39-16-T |M39 X 2 25 [76.7) 7 [73.5
20191-45-20-T |M45 X 2 32 191.5] 8.5 | 85
20191-52-24-T |M52 X 2 40 | 109 9 100
20191-64-32-T |M64 X 2 50 | 132 | 14 | 122
Part. No Thread E DN A C S2
20711-14-04 |M14X1.5 6 |15.5] 8.5 ] 19
20711-14-05 |M14X1.5 8 |15.5] 8.5 ] 19
20711-14-06  |M14X1.5 10 |15.5] 8.5 ] 19
20711-16-04 |MI6X1.5 6 |16.5] 8 22
20711-16-05 |MI6X1.5 8 ]16.5] 8 22
20711-16-06  |MI6X 1.5 10 | 16 8 22
20711-18-05-T |MI8 X 1.5 8 16 8 22
20711-18-06  |MI8 X 1.5 10 [17.5] 10 24
20711-20-06-T |M20 X 1.5 10 | 16 10 24
20711-20-08 |M20X 1.5 12 [18.5] 10 27
20711-22-06-T |M22 X 1.5 10 | 16 10 27
20711-22-08 |M22X 1.5 12 [18.5] 10 27
20711-22-10 |M22X 1.5 16 119.5] 10 27
20711-24-08-T |M24 X 1.5 12 [16.5] 11 30
20711-27-08-T |M27 X 1.5 12 [18.5] 11 32
20711-27-10-T |M27 X 1.5 16 [19.5] 11 32
20711-27-12 |IM27X1.5 20 |21.5] 11 32
20711-30-10-T |M30 X 1.5 16 |18.5] 11 36
20711-30-12 |M30X1.5 20 |21.5] 11 36
20711-33-10-T |M33 X 2 16 | 20 13 41
20711-33-12-T |M33 X 2 20 | 20 13 41
20711-33-14-T |M33 X 2 22 |21.5] 13 41
20711-36-12-T |M36 X 2 20 | 20 14 41
20711-36-14-T |M36 X 2 22 | 20 14 41
20711-36-16  |M36 X2 20 | 23 14 41
20711-39-16-T |M39 X 2 20 |23.5| 14 46
20711-42-16-T |M42 X 2 25 [23.5] 15 50
20711-42-20  |M42 X2 32 | 26 15 50
20711-45-20-T |M45 X 2 32 | 25 15 55
20711-52-24-T |M52 X 2 40 | 25 17 60




Part. No Thread E DN A C H S2
20741-14-04 |M14X1.5 6 |40.5] 8.5 ]18.5] 19
20741-16-05 |MI6X1.5 8 |44.4] 8 20 22
20741-18-06  |MI8 X 1.5 10 [45.7] 10 [21.4] 24
20741-22-08 |M22X 1.5 12 [58.9] 10 24 27
20741-27-10 |M27X 1.5 16 [71.2] 11 |26.4| 32
20741-30-12 |M30X1.5 20 [78.1] 11 30 36
20741-33-12  |M33X?2 20 | 77.4] 13 30 41
20741-33-16  |M33 X2 25 | 85 13 130.8] 41
20741-36-14  |M36 X2 22 179.8] 14 [29.6] 41
20741-36-16  |M36 X2 25 [85.7] 14 [31.5] 41
20741-39-16  |M39 X2 25 [86.1] 14 |31.8] 46
20741-45-20-W |M45 X 2 32 | 97 15 136.2] 55
20741-52-24-W |M52 X 2 40 | 113 ] 17 ]140.9] 60

Part. No Thread E DN A C H S2
20791-12-04-C |M12 X 1. 25 6 30 9 [33.5] 17
20791-12-04 |MI2X1.5 6 30 10 133.5] 17
20791-14-05 |M14X1.5 6 30 | 8.5 | 34 19
20791-16-04 |MI6X1.5 6 30 8 35 22
20791-16-05 |MI6X 1.5 8 34 8 38 22
20791-18-06  |MI8X 1.5 10 135.3] 10 |41.3] 24
20791-22-08 |M22X 1.5 12 | 41 10 48 27
20791-22-10 |M22X1.5 16 |56.5| 10 |52.5] 27
20791-27-10 |M27X 1.5 16 |56.5] 11 54 32
20791-30-12 |M30X1.5 20 [66.2] 11 [63.5] 36
20791-33-12 |M33X?2 20 | 166 ] 13 [63.5] 41
20791-33-16  |M33 X2 25 176.7] 13 69 41
20791-36-12  |M36 X2 20 [65.5] 14 [63.5] 41
20791-36-14  |M36 X2 22 | 71.2] 14 |64.5] 41
20791-39-16  |M39 X2 25 176.7] 14 |70.5] 46
20791-45-20-W |M45 X 2 32 191.5] 15 83 55
20791-52-20-W |M52 X 2 32 | 93 17 |84.5] 60
20791-52-24-W |M52 X 2 40 | 111 ] 17 ]196.5] 60

Part. No Thread E DN A C S2 o ring
20411-12-04 |MI2X1.5 6 26 1 17 o 04.5X1.5
20411-14-04 |M14X1.5 6 |27.5] 2 19 Jo 06.5X1.5
20411-14-06  |M14X1.5 10 |127.5| 2 19 Jo 06.5X1.5
20411-16-04 |MI6X1.5 6 28 2 22 lo 08.0X1.5
20411-16-05 |MI6X1.5 8 28 2 22 lo 08.0X1.5
20411-16-06  |MI6X 1.5 10 | 28 2 22 lo 08.0X1.5
20411-18-05-T |MI8 X 1.5 8 127.5] 1.8 ] 22 Jo 10.0X1.5




20411-18-06 |MI8X 1.5 10| 29 [ 2.5] 24 [0 10.0X1.5
20411-18-08 |MI8X 1.5 12 129.50 2.5 | 24 [o 10.0x1.5
20411-22-05-T [M22X 1. 5 8 [29.50 2.1 ] 27 lo 12.0x2.0
20411-22-06-T [M22X 1. 5 10| 29 [ 2.5] 27 [0 12.0%x2
20411-22-08 |M22X 1.5 12 | 32 12.5] 27 |o 12.0%x2
20411-26-10 |M26X 1.5 16 | 35 [ 2.5] 32 [0 15.0%x2
20411-26-12  |M26X 1.5 20 | 35 | 2.5 | 32 |o 15.0%2
20411-27-10-T [M27X 1.5 16| 28 [ 2.5] 32 [0 15.0x2
20411-27-12  |M27X 1.5 20 | 35 | 2.5 | 32 |o 15.0%2
20411-30-10-T [M30 X 2 16| 35 | 4 | 36 [0 20.0x2
20411-30-12  [M30X2 20 | 38 | 4 | 36 lo 20.0%x2
20411-36-12-T |[M36 X 2 20 | 35 | 4 | 41 lo 26.0%x2
20411-36-14-T |[M36 X 2 22 1 36 | 4 | 41 lo 26.0%x2
20411-45-16-T |[M45 X 2 25 | 41 | 5 | 55 |o 32.0%2
20411-45-20-T |M45 X 2 321 42 ] 5 | 55 |o 32.0%x2
20411-52-20-T [M52 X 2 32 | 44 | 5.5 60 lo 38.0%x2
20411-52-24-T |[M52 X 2 40 | 44 | 5.5 | 60 |o 38.0%x2
Part. No Thread E DN A C S2 o ring
20441-14-04 |M14X 1.5 6 | 49 2 | 19 |o 06.5X1.5
20441-16-05 |M16X 1.5 8 [51.5] 2 | 22 |o 08.0X%1.5
20441-16-06 |M16X 1.5 10 [53.4] 2 | 22 |o 08.0%X1.5
20441-18-05-T [M18X 1. 5 8 [46.2] 2.5 22 o 10.0X1.5
20441-18-06 |MI8X 1.5 10 [54.2] 2.5 | 24 |o 10.0X1.5
20441-22-05-T [M22X 1. 5 8 [48.3] 2.5 27 |o 12.0%x2.0
20441-22-06-T [M22X 1. 5 10 [50.4] 2.5 | 27 | o 12.0%x2
20441-22-08 |M22X 1.5 12 |68. 1] 2.5 ] 27 | o 12.0%x2
20441-26-08-T [M26 X 1. 5 12162 ]25] 32 ] o015.0%x2
20441-26-10 |M26X 1.5 16 [80.7] 2.5 | 32 | o 15.0%x2
20441-26-12  |M26X 1.5 20 186.9] 2.5 | 32 | o 15.0%2
20441-27-10-T [M27X 1. 5 16| 72 25] 32 ] o15.0%x2
20441-27-12  |M27X1.5 20 186.9] 2.5 | 32 | o 15.0%2
20441-30-10-T [M30 X 2 16 [75.1] 4 | 36 | o 20.0%x2
20441-30-12  |M30 X2 20 [89.1] 4 | 36 | 0 20.0x2
20441-36-12-T |[M36 X 2 20 82| 4 | 41 | o 26.0%x2
20441-36-14-T |[M36 X 2 22 183.7] 4 | 41 [ o 26.0x2
20441-45-20-T |M45 X 2 32 199.6] 5 | 55 | o 32.0x2
20441-52-20-T |M52 X 2 32 1103] 5.5 60 | o 38.0x2
20441-52-24-T |[M52 X 2 40 | 117 5.5 ] 60 | o 38.0x2
Part. No Thread E DN | A | ¢ H |o ring
20491-12-03  |MI12X 1.5 5 [26.5] 1 |41.5]0 04.5%1.5
20491-12-04 |MI12X 1.5 6 | 30 | 1 |44.5]0 04.5%x1.5
20491-14-04 |M14X1.5 6 | 30 2 | 46 lo 06.5%x1.5
20491-16-04 |M16X 1.5 6 | 30 | 2 |46.5l0 08.0%x1.5




20491-16-05 |MI6X 1.5 8 33 49.5]o 08.0X1.5
20491-16-06 |MI6X1.5 10 ]35.3 51.8[o 08.0X1.5
20491-18-05-T |MI8 X 1.5 8 33 | 2.5 [ 42 [o 10.0X1.5
20491-18-06  |MI8X 1.5 10 135.3] 2.5 ]53.3]o 10.0X1.5
20491-22-06-T |M22 X 1.5 10 135.3] 2.5 147.3]o 12.0X2.0
20491-22-08 |M22X 1.5 12 | 41 | 2.5 ] 61 [o 12.0X2
20491-26-08-T |M26 X 1. 5 12 | 42 | 2.5 ] 51 Jo 15.0X2
20491-26-10 |M26X 1.5 16 |56.5] 2.5 |67.5]o 15.0X2
20491-26-12 |M26X 1.5 20 165.5] 2.5 | 77 Jo 15.0X2
20491-27-10-T |M27 X 1.5 16 |56.5] 2.5 |67.5]o 15.0X2
20491-27-12 |M27X1.5 20 165.5] 2.5 | 77 Jo 15.0X2
20491-30-10-T |M30 X 2 16 |56.5] 4 |57.2]o 20.0X2
20491-30-12  |M30 X2 20 165.5] 4 80 [o 20.0X2
20491-36-12-T |M36 X 2 20 165.5] 4 69 [o 26.0X2
20491-36-14-T |M36 X 2 22 |71.2] 4 70 lo 26.0X2
20491-45-16-T |M45 X 2 25 176.7] 5 75 lo 32.0X2
20491-45-20-T |M45 X 2 32 [91.5] 5 [88.5]o 32.0X2
20491-52-20-T |M52 X 2 32 | 93 | 5. 87 Jo 38.0X2
20491-52-24-T |M52 X 2 40 | 109 | 5. 104 [o 38.0X2
Part. No Thread E DN A S2 0 ring
20511-14-04 |MI6X1.5 6 [28.5] 1.1 [ 19 Jo 04.5X1.5
20511-16-04 |MI6X1.5 6 29 | 1.5 ] 22 |o 06.5X1.5
20511-16-05 |MI6X1.5 8 29 | 1.5 ] 22 |o 06.5X1.5
20511-18-04-T |MI8 X 1.5 6 |26.5 22 lo 08.0X1.5
20511-18-06  |MI8X 1.5 10 | 29 24 lo 08.0X1.5
20511-20-06-T |M20 X 1. 5 10 [28.5] 2.5 | 24 |o 10.0X1.5
20511-20-08 |M20X 1.5 12 [31.5] 2.5 | 27 Jo 10.0X1.5
20511-22-06-T |M22 X 1.5 10 [28.5] 2.5 | 27 |o 11.0X2
20511-22-08 |M22X1.5 12 [31.5] 2.5 | 27 |o 11.0X2
20511-24-06-T |M24 X 1.5 10 [28.5] 2.5 | 30 [o 13.0X2
20511-24-08-T |M24 X 1.5 12 | 30 3 30 Jo 13.0X2
20511-30-10-T |M30 X 2 16 | 36 3 36 lo 16.3X2.4
20511-30-12  |M30 X2 20 | 39 3 36 lo 16.3X2.4
20511-36-12-T |M36 X 2 20 | 36 3 41 |o 20.3X2.4
20511-36-14-T |M36 X 2 22 | 36 3 41 |o 20.3X2.4
20511-42-12-T |M42 X 2 20 | 40 5 50 o 25.3X2.4
20511-42-16-T |M42 X 2 25 | 41 5 50 o 25.3X2.4
20511-52-20-T |M52 X 2 32 | 44 1 6.5 | 60 Jo 33.3X2.4
20511-52-24-T |M52 X 2 40 | 44 | 6.5 | 60 Jo 33.3X2.4




Part. No Thread E DN A C S2 o ring
20541-14-04 |M14X1.5 6 |50.1] 1.1 ] 19 Jo 04.5X1.5
20541-16-04 |MI6X1.5 6 |50.4] 1.5 ] 22 Jo 06.5X1.5
20541-16-05 |MI6X 1.5 8 152.2] 1.5 ] 22 Jo 06.5X1.5
20541-18-04-T |MI8 X 1.5 6 [43.4] 2 22 lo 08.0X1.5
20541-18-06  |MI8X 1.5 10 [54.3| 2 24 lo 08.0X1.5
20541-20-06-T |M20 X 1. 5 10 149.7] 2.5 ] 24 Jo 10.0X1.5
20541-20-08 |M20X 1.5 12 167.8] 2.5 ] 27 Jo 10.0X1.5
20541-22-06-T |M22 X 1.5 10 149.6] 2.5 | 27 Jo 11.0X2
20541-22-08 |M22X 1.5 12 168.1] 2.5 | 27 Jo 11.0X2
20541-24-08-T |M24 X 1.5 12 [62.5] 3 30 Jo 13.0X2
20541-24-10-T |M24 X 1.5 16 180.7] 2.5 ] 30 Jo 13.0X2
20541-30-10-T |M30 X 2 16 [75.8] 3 36 lo 16.3X2.4
20541-30-12  |M30 X2 20 190.5] 3 36 lo 16.3X2.4
20541-36-12-T |M36 X 2 20 [82.7] 3 41 [o 20.3X2.4
20541-36-14-T |M36 X 2 22 |84.4] 3 41 [o 20.3X2.4
20541-42-16-T |M42 X 2 25 192.3] 5 50 o 25.3X2.4
20541-52-20-T |M52 X 2 32 1 103 ] 6.5 | 60 Jo 33.3X2.4
20541-52-24-T |M52 X 2 40 | 116 | 6.5 | 60 Jo 33.3X2.4
Part. No Thread E DN A C H o ring
20591-14-04 |M14X1.5 6 30 | 1.1 [47.5fo 04.5X1.5
20591-16-04 |MI6X 1.5 6 30 | 1.5 [ 48 [o 06.0X1.5
20591-16-05 |MI6X 1.5 8 33 | 1.5 [ 51 [o 06.0X1.5
20591-18-05-T |MI8 X 1.5 8 33 2 |41.5]o 08.0X1.5
20591-18-06  |MI8X 1.5 10 135.3] 2 |52.8]o 08.0X1.5
20591-20-06-T |M20 X 1.5 10 135.8] 2.5 ]46.3]o 1.0X1.5
20591-20-08 |M20X 1.5 12 ] 41 | 2.5 ] 61 Jo 1.0X1.5
20591-22-06-T |M22 X 1.5 10 135.3] 2.5 ]46.8]o 11.0X2
20591-22-08 |M22X 1.5 12 | 41 | 2.5 ] 61 [o 11.0X2
20591-24-08-T |M24 X 1.5 12 | 41 3 53 o 13.0X2
20591-24-10 |M24X 1.5 16 |56.5] 2.5 |67.5]o 13.0X2
20591-30-10-T |M30 X 2 16 156.5] 3 ]60.5]016.3.0X2.4
20591-30-12  |M30 X2 20 |65.5] 3 81 [016.3.0X2.4
20591-36-12-T |M36 X 2 20 [66.2] 3 70 1020.3.0X2.4
20591-36-14-T |M36 X 2 22 | 71.2] 3 71 1020.3.0X2.4
20591-42-16-T |M42 X 2 25 | 78 5 [77.5]025.3.0X2.4
20591-52-20-T |M52 X 2 321 93 1 6.5 89 033.3.0X2.4
20591-52-24-T |M52 X 2 40 ] 109 | 6.5 | 103 J033.3.0X2.4




Part. No Thread E DN A C S1
22211-02-04 |G1/8X28 6 19 2 14
22211-04-03 |G1/4X 19 5 19 4 19
22211-04-04 |G1/4X19 6 |119.5] 4 19
22211-06-05 |G3/8X 19 8 20 5 22
|22211*O6*O6 G3/8X 19 10 120.5| 5 22

. 22211-06-08 |G3/8X19 12 | 21 5 22
22211-08-06-T |G1/2X 14 10 [22.5] 6 27
22211-08-08 |G1/2X 14 12 | 23 6 27
22211-08-10 |G1/2X 14 16 | 24 6 27
22211-10-10 |G5/8X 14 16 | 25 8 30
22211-10-12  |G5/8X 14 20 | 25 8 30
22211-12-08-T |G3/4 X 14 12 | 25 | 9.5 | 32
22211-12-10 |G3/4X 14 16 | 26 | 9.5 | 32
22211-12-12  |G3/4X 14 20 | 26 | 9.5 | 32
22211-16-12-T |G1 X 11 20 |126.5] 11 41
22211-16-14 |G1 X 11 22 |126.5] 11 41
22211-16-16  |G1 X 11 20 | 28 11 41
22211-20-16-T |G1. 1/4X11 | 25 |27.5] 11 50
22211-20-20-W |G1. 1/4X11 | 32 |31.5] 10 50
22211-24-24-W|G1. 1/2X11 | 40 | 37 |11.5| 55
22211-32-32-W|G2X 11 50 | 34 15 70
Part. No Thread E DN A C S1 H
22141-02-04 |G1/8X 28 6 |43.7] 2 14 | 21.6
22141-04-03 |G1/4X19 5 [41.3] 4 19 | 20.4
22141-04-04 |G1/4X19 6 |43.7] 4 19 | 21.6
22141-06-05 |G3/8X 19 8 [46.2] 5 22 | 22.9
22141-06-06 |G3/8X 19 10 148.1| 5 22 | 23.9
22141-06-08 |G3/8X 19 12 160.4| 5 22 | 25.4
22141-08-04-T |G1/2X 14 6 |143.9] 6 27 | 23.8
22141-08-06-T |G1/2X 14 10 142.5] 6 27 | 18.2
22141-08-08 |G1/2X 14 12 161.8] 6 27 | 26.8
22141-08-10 |G1/2X 14 16 | 73 6 27 29
22141-10-10 |G5/8X 14 16 173.7] 8 30 | 28.9
22141-10-12 |G5/8X 14 20 179.8] 8 30 | 32.5
22141-12-08-T |G3/4X 14 12 163.2] 9.5 | 32 | 28.3
22141-12-10 |G3/4X 14 16 170.4] 9.5 | 32 | 29.6
22141-12-12  |G3/4X 14 20 [80.6] 9.5 | 32 | 33.2
22141-16-12 |G1 X 11 20 |81.6] 11 41 | 33.5
22141-16-14 |G1 X 11 22 [83.3] 11 41 33
22141-16-16  |G1 X 11 25 [89.2] 11 41 35
22141-20-16-T |G1. 1/4X11 | 25 |91.4] 9.1 | 50 | 37.1
22141-20-20-W |G1. 1/4X11 | 32 | 103 | 10 50 | 41.2




22141-24-24-W|G1. 1/2X11 | 40 | 120 | 11.5| 55 49
22141-32-32-W G2 X 11 50 | 137 | 15 70 53
Part. No Thread E DN A C H S1
22191-02-04 |G1/8X28 6 30 2 |38.5] 14
22191-04-03 |G1/4X19 5 27 4 35 19
22191-04-04 |G1/4X19 6 30 4 138.5] 19
22191-04-05 |G1/4X19 8 33 4 [41.5] 22
- 122191-06-05  |G3/8X 19 8 33 5 42 22
22191-06-06 |G3/8X 19 10 135.3] 5 |44.8] 22
22191-06-08 |G3/8X 19 12 | 41 5 50 27
22191-08-06-T |G1/2X 14 10 135.3] 6 |46.8] 27
22191-08-08 |G1/2X 14 12 | 41 6 52 27
22191-08-10 |G1/2X 14 16 |56.5] 6 58 27
22191-10-10 |G5/8X 14 16 |56.5] 8 |57.5] 30
22191-10-12 |G5/8X 14 20 [65.4] 8 67 30
22191-12-08-T |G3/4X 14 12 | 41 | 9.5 | 52 32
22191-12-10 |G3/4X 14 16 |56.5] 9.5 |58.5] 32
22191-12-12  |G3/4X 14 20 [65.5] 9.5 | 68 32
22191-16-12-T |G1 X 11 20 [66.2] 11 [68.5] 41
22191-16-14 |G1 X 11 22 | 71.2] 11 |69.5] 41
22191-16-16  |G1 X 11 25 [76.7] 11 75 41
22191-20-16-T |G1. 1/4X11 | 25 |76.7] 9.1 | 78 50
22191-20-20-W |G1. 1/4X11 | 32 |92.3] 10 [85.3[ 50
22191-24-24-W|G1. 1/2X11 | 40 | 109 | 11.5| 108 55
22191-32-32-W|G2X 11 50 | 133 | 15 | 124 70
Part. No Thread E DN A C S1 H
22241-04-04 |G1/4X19 6 140.9] 8 19 | 18.8
22241-06-06 |G3/8X 19 10 [45.3] 9 22 21
22241-08-08 |G1/2X 14 12 158.9]10.5] 27 24
22241-12-12  |G3/4X 14 20 | 77.4]113.5] 32 30
22241-16-16  |G1 X 11 25 |82.7]15.5] 41 | 31.5
22241-20-20-W |G1. 1/4X11 | 32 [97.3]15.5| 50 | 36.6
Part. No Thread E DN A C S1 H
22291-04-04 |G1/4X19 6 30 8 19 | 34.5
22291-06-06 |G3/8X 19 10 135.3] 9 22 | 41.3
22291-08-08 |G1/2X 14 12 | 41 |10.5] 27 48
22291-12-12  |G3/4X 14 20 [65.5]13.5] 32 | 63.5
22291-16-16  |G1 X 11 25 [ 76.7]15.5[ 41 70
22291-20-20-W |G1. 1/4X11 | 32 [91.5]15.5| 50 | 82.5




[22291-24-24-W [61. 1/2x11 | 40 | 109 | 17.5] 55

| 98.5 |

Part. No Thread E DN [ A C Sl

22611-02-03 _[G1/8X 28 5 | 15 [ 5.5] 14

22611-02-04 _[G1/8X 28 6 | 15 | 5.5] 14

22611-04-03 _[G1/4X19 5 | 17 [5.5] 19

22611-04-04 _|G1/4X19 6 | 18 [5.5] 19

22611-04-05_[G1/4X19 8 | 18 [5.5] 19

22611-04-06  [61/4x19 | 10 | 18 [ 5.5 | 19

22611-06-04 _[63/8X 19 6 | 19 [6.3] 22

22611-06-05_[63/8X 19 8 [ 19 [6.3] 22

22611-06-06 [63/8X19 | 10 [19.5] 6.3 | 22

22611-06-08  [63/8Xx19 | 12 [19.5] 6.3 | 22

22611-08-06-T[G1/2Xx14 | 10 | 21 | 7.5 | 27

22611-08-08 [G1/2X14 | 12 [21.5] 7.5 | 27

22611-10-08 [65/8x14 | 12 | 22 [ 9.5 | 30

22611-10-10 [65/8x14 | 16 [23.5] 9.5 | 30

22611-12-08-T[63/4x14 | 12 | 22 [10.9] 32

22611-12-10 [63/4x14 | 16 | 24 [10.9] 32

22611-12-12 [63/4x14 | 20 | 24 [ 9.5 | 32

22611-16-12-T [G1 X 11 20 | 24 [11.7] 41

22611-16-14 _[G1X11 22 | 26 [11.7] 41

22611-16-16 [G1X11 25 | 27 [11.7] 41

22611-20-16-T [G1. 1/4X11 | 25 [27.5] 11 | 50

22611-20-20-W [G1. 1/4x11 | 32 [30.5] 11 | 50

22611-24-20-W|G1. 1/2x11 | 32 | 32 | 13 | 55

22611-24-24-W|G1. 1/2X11 | 40 | 32 | 13 | 55

22611-32-24-W [G2X 11 40 [ 30 [ 16 | 70

22611-32-32-W [G2X 11 50 [31.9] 16 [ 70
c A Part. No Thread E DN A S2
e 22612-04-04 _|G1/4X19 6 | 18 | 19
i 22612-06-06  [63/8X19 | 10 | 21 | 22
;C\UUJJJJUHULU. 22612-08-08 [G1/2X14 | 12 [22.5] 27
¢ 22612-10-10 [6G5/8X14 | 16 | 24 | 30
— 22612-12-12 6G3/4x14 | 20 [25.3] 32



o . |
Qi

If\.
& 1

Part. No Thread E DN A C H S2
22641-04-04 |G1/4X19 6 |42.3] 5.5 120.2] 19
22641-06-04 |G3/8X 19 6 [43.2] 6.3 | 21 22
22641-06-05 |G3/8X 19 8 145.3] 6.3 | 22 22
22641-06-06 |G3/8X 19 10 146.9] 6.3 |22.6] 22
22641-08-06-T |G1/2X 14 10 148.1| 7.5 123.9] 27
22641-08-08 |G1/2X 14 12 161.1] 7.5 |26.1] 27
22641-10-08 |G5/8X 14 12 161.4] 9.5 126.5] 30
22641-10-10 |G5/8X 14 16 172.6] 9.5 |27.8] 30
22641-12-08-T |G3/4X 14 12 161.8]10.9]26.9] 32
22641-12-10 |G3/4X 14 16 | 73 [10.9]28.2] 32
22641-12-12  |G3/4X 14 20 179.2]110.9]31.8] 32
22641-16-12-T |G1 X 11 20 [80.8]11.7[33.4] 41
22641-16-16  |G1 X 11 20 |88.4]111.7]34.2] 41
22641-20-16-T |G1. 1/4X11 | 25 |85.3] 11 [31.1[ 50
22641-20-20-W|G1. 1/4X11 | 32 |98.8] 11 38 50
22641-24-24-W|G1. 1/2X11 | 40 | 117 | 13 [45.5| 55
22641-32-32-W G2 X 11 50 | 136 | 16 [|52.7] 70
PART NO. Thread E DN A C H S2
22691-04-04 [G1/47X19 6 30 | 5.5 136.5[ 19
22691-04-05 [G1/47X19 8 33 | 5.5 139.5( 19
22691-04-06 [G1/47X19 10 [ 30 | 5.5 ]36.5[ 19
22691-06-04 [G3/87X19 6 30 | 6.3 137.7[ 22
22691-06-05 [G3/87X19 8 33 | 6.3 140.7| 22
22691-06-06 [G3/87X19 10 [35.3] 6.3 | 43 22
22691-08-06T [G1/27X14 10 [35.3] 7 [43.3| 27
22691-08-08 |G1/27X14 12 | 41 | 7.5 | 51 27
22691-08-10 [G1/27X14 16 [56.5| 7.5 | b5b.5| 27
22691-10-08 |G5/87X14 12 | 41 | 9.5 | 51.5] 30
22691-10-10 |G5/87X14 16 [56.5] 9.5 | 56 30
22691-12-08T [G3/4”X14 12 | 41 [10.9]52.1| 32
22691-12-10 [G3/4”7X14 16 [56.5]10.9]56.6[ 32
22691-12-12  [G3/4”7X14 20 |165.5]10.9| 66 32
22691-16-12T [G17X11 20 |65.5]11.7]68.3] 41
22691-16-14 [G17X11 22 | 71.2]111.7]169.3] 41
22691-16-16 [G17X11 20 | 76.7]11.7]73.8] 41
22691-20-16T |G1.1/4”X11 | 25 | 78 11 169.5] 50
22691-20-20W [G1.1/4”X11 | 32 [91.5| 11 |84.3[ 50
22691-24-24W [G1. 12”X11 40 | 109 | 13 | 103 55
22691-32-32W [G27X11 50 | 132 ] 16 | 123 70




PART NO. Thread E DN A C Sl

15611-04-04  [1/4”X18 6 28 15 17

15611-04-05  |1/4”X18 8 28 15 17

15611-04-06  |1/4”X18 10 | 27 15 17

A 15611-06-04  |3/8”X18 6 28 16 19
A 15611-06-05  |3/8”X18 8 28 16 19
- 15611-06-06  |3/8”X18 10 | 30 16 19
=) 15611-06-08  [3/8”X18 12 130.5[ 16 19
= 15611-08-06  [1/27X14 10 134.5[19.5] 22
15611-08-08 [1/27X14 12 134.5[19.5] 22

15611-08-10  [1/2”X14 16 | 36 [19.5] 22

15611-12-08  [3/47X14 12 137.5[19.5] 27

15611-12-10  [3/47X14 16 | 38 [19.5] 27

15611-12-12  [3/47X14 20 138.5]19.5[ 27

15611-12-16  [3/47X14 25 139.5]19.5[ 32

15611-16-10 |1”X11.5 16 | 45 [25.5] 36

15611-16-12  |1”X11.5 20 | 45 125.5[ 36

15611-16-16  |1”X11.5 25 144.5]125.5[ 36

15611-20-16  |1.1/4”X11.5] 25 |49.5[26.5]| 46

15611-20-20  [1.1/4”X11.5] 32 | 49 [26.5]| 46

15611-24-24 1. 12"X11.5 | 40 | 51 [27.5] 50

15611-32-32  |2"X11.5 50 | 55 |27.5[ 65

PART NO. Thread E DN A C Sl

16711-06-04  9/16”X18 6 126.5[14.1] 17

16711-06—-05  9/16”X18 8 126.5[14.1] 17

16711-06-06 _ {9/16”X18 10 126.5[14. 1] 17

16711-08-06  |3/4”X16 10 |31.5[16.7] 22

16711-08-08 [3/4”X16 12 | 32 [16.7] 22

16711-10-06 _ [7/8"X14 10 | 32 [19.3] 24

16711-10-08  [7/8"X14 12 134.3[19.3] 24

16711-10-10  [7/8"X14 16 135.5[19.3] 24

16711-12-08 1. 1/16”X12 | 12 | 39 [21.9] 27

16711-12-10 1. 1/16”X12 | 16 | 40 [21.9]| 27

16711-12-12 1. 1/16”X12 | 20 | 40 [21.9] 27

16711-12-16 1. 1/16”X12 | 25 | 41 [21.9] 30

16711-14-10  [1.3/16”X12 | 16 [41.5[22.6| 32

16711-14-12  [1.3/16”X12 | 20 [40.6[22.6| 32

16711-16-12  [1.5/16”X12 | 20 [42.5[23.1| 36

16711-16-16  |1.5/16”X12 | 25 [43.5[23. 1| 36

16711-20-16  |1.5/8"X12 25 146.5]24.3[ 46

16711-20-20  |1.5/8"X12 32 147.5]24.3[ 46

16711-24-20  |1.7/8"X12 32 | 53 127.5[ 50




16711-24-24  |1.7/8"X12 40 | 53 [27.5] 50
16711-32-32 2. 1/2"X2 50 | 62 133.9] 65
PART NO. Thread E DN A C Sl
26711-06-04 [9/16”X18 6 |15.5[10.5] 19
26711-06-05  [9/16”X18 8 |15.5[10.5] 19
26711-06-06 _ [9/16”X18 10 115.5[10.5] 19
26711-06-08 [9/16”X18 12 | 16 [10.5] 19
26711-08-06 _ [3/47X16 10 |17.5] 11 24
126711-08-08  [3/4”X16 12 | 18 11 24
126711-08-10  |3/47X16 16 119.5[ 11 24
26711-10-08 |7/8”X14 12 |18.5[ 13 27
26711-10-10  [7/8"X14 16 | 20 13 27
26711-10-12  [7/8"X14 20 | 20 13 27
26711-12-08T |1.1/16”X12 | 12 | 19 15 32
26711-12-10 [1.1/16"X12 [ 16 [21.5] 15 32
26711-12-12  [1.1/16"X12 [ 20 [21.5] 15 32
26711-12-16  |1.1/16”X12 | 25 | 23 15 32
26711-14-12  [1.3/16"X12 [ 20 [21.5] 15 36
26711-16-12T [1.5/16”X12 | 20 [18.5] 16 | 41
26711-16-16  |1.5/16"X12 | 25 | 23 16 | 41
26711-16-20 |1.5/16”X12 | 32 | 24 16 | 41
26711-20-16T [1.5/8"X12 25 | 23 17 50
26711-20-20W_[1.5/8"X12 32 | 26 17 50
26711-24-20W_[1.7/8"X12 32 126.5]| 20 95
26711-24-24W_[1.7/8"X12 40 126.5] 20 95
26711-32-24T [2.1/2"X2 40 | 27 [23.5] 75
26711-32-32W _[2.1/2"X2 00 | 27 123.5[ 75
PART NO. Thread E DN A C H S2
26741-04-03  [7/167X20 5 |37.61 9 117.2] 15
26741-04-04  |7/167X20 6 140.21 9 118.1] 15
26741-05-04  [1/27X20 6 140.5[ 9.5 118.5] 17
26741-05-05  [1/2”X20 8 142.7]9.5119.3] 17
26741-05-06  [1/2”X20 10 144.6[ 9.5 120.3] 17
26741-06-04  [9/16”X18 6 140.5[10.5]18.5] 19
26741-06-05  [9/16”X18 8 142.7[10.5]119.3] 19
26741-06-06 _ [9/16”X18 10 144.3[10.5] 20 19
26741-06-08 [9/16”X18 12 156.8[10.5]21.9] 19
26741-08-06 _ [3/47X16 10 [45.7[ 11 121.4] 24
26741-08-08  [3/47X16 12 |58.6[ 11 123.5] 24
26741-10-08  |7/8”X14 12 |58.9[ 13 24 27
26741-10-10  |7/8"X14 16 170. 1 13 125.3| 27




26741-10-12  |7/8"X14 20 | 77 13 128.9] 27
26741-12-08 |1.1/16”X12 | 12 | 60 15 25 32
26741-12-10  [1.1/16"X12 | 16 [71.2] 15 |26.4[ 32
26741-12-12  [1.1/16"X12 [ 20 [77.4] 15 30 32
26741-12-16  [1.1/16"X12 | 25 [85.3] 15 31 32
26741-14-12  [1.3/16"X12 [ 20 [77.4] 15 30 36
26741-16-12  [1.5/16"X12 [ 20 [77.4] 16 30 41
26741-16-16  [1.5/16”X12 | 25 [85.7| 16 |31.5[ 41
26741-16-20  [1.5/16"X12 | 32 [96.3]| 16 |35.5[ 41
26741-20-20W_[1.5/8”X12 32 196.6] 17 [35.9[ 50
26741-24-20W_[1.7/8"X12 32 1101 ] 20 [40.1[ 55
26741-24-24W_[1.7/8"X12 40 | 115 | 20 |44.4] 55
26741-32-32W _[2.1/2"X2 00 | 136 123.5[51.6[ 75
PART NO. Thread E DN A C H S2
26791-04-03  [7/167X20 5 126.5] 9 130.5] 15
26791-04-04  [7/167X20 6 30 9 133.5] 15
26791-05-04  [1/2”X20 6 30 1 9.5 34 17
26791-05-05  [1/27X20 8 33 1 9.5 [ 37 17
26791-05-06  [1/2”X20 10 135.3[ 9.5 139.3] 17
26791-06-04  [9/16”X18 6 30 110.5( 34 19
26791-06-05  [9/16”X18 8 33 110.5( 37 19
26791-06-06 _ [9/16”X18 10 135.3[10.5]139.3] 19
26791-06-08 [9/16”X18 12 | 41 [10.5]45.5] 19
26791-08-06  [3/47X16 10 |35.3[ 11 |41.3] 24
26791-08-08  [3/4”X16 12 | 41 11 47 24
26791-08-10  [3/47X16 16 |56.5[ 11 |51.5] 24
26791-10-08  [7/8”X14 12 | 41 13 | 48 27
26791-10-10  |7/8”X14 16 |56.5[ 13 |52.5| 27
26791-10-12  [7/8"X14 20 | 67 13 | 64 27
26791-12-08 |1. 1/167X12 | 12 | 41 15 149.5] 32
26791-12-10 [1.1/16”X12 [ 16 [56.5] 15 54 32
26791-12-12  [1.1/16"X12 | 20 [65.5] 15 |63.5[ 32
26791-12-16  [1.1/16"X12 [ 25 [76.7] 15 70 32
26791-14-12  [1.3/16”X12 | 20 [65.5] 15 |63.5[ 36
26791-16-12  [1.5/16”X12 | 20 [65.5| 16 |63.5[ 41
26791-16-16  [1.5/16"X12 [ 25 [76.7] 16 70 41
26791-16-20 [1.5/16"X12 | 32 [91.5] 16 | 81 41
26791-20-20W_[1.5/8"X12 32 191.5] 17 [80.5[ 50
26791-24-20W_[1.7/8"X12 32 191.5] 20 [79.5[ 55
26791-24-24W_[1.7/8"X12 40 | 109 | 20 | 94 95
26791-32-32W_[2.1/2"X2 00 | 133 123.5[ 122 [ 75




PART NO. Thread E__[DN [ A | ¢ [ sI
s 17811-04-04 _[7/16”X20 6 [25.5[12.7] 12
= 17811-05-05__[1/27X20 8 | 27 [14.2] 14
3”K~“jl[]£ﬂgﬂlnmlﬂif 17811-06-06 _|5/8”X18 10 [28.5[15.7] 17
' & 17811-08-08 _ [3/4”X16 12 [ 34 [ 19 [ 22
17811-10-10 _[7/8"X14 16 [38.5[22.4] 24
17811-12-12  [1/16”X14 | 20 [43.5][25.4] 30
PART NO. Thread E__[DN [ A | ¢ [ sI
27811-04-03 _|7/16”X20 5 |14 ] 9 [ 15
27811-04-04 _|7/16”X20 6 [ 15] 9 [ 15
- 27811-05-05__ [1/2”X20 8 [15.5] 9.5 [ 17
="y 27811-06-04 |5/8”X18 6 | 17 [11.3] 22
ay?{wal 27811-06-05__|5/8”X18 8 | 17 [11.3] 22
’*qtjﬂuiiﬂlnﬂii'J 27811-06-06 _|5/8”X18 10 | 17 [11.3] 22
= 27811-08-08 _|3/4”X16 12 | 18 [ 11 [ 24
27811-10-08 [7/8”X14 12 [18.5] 13 [ 27
27811-10-10 _[7/8”X14 16 | 20 [ 13 [ 27
27811-12-12_ [1/16”X14 | 20 [21.5]14.3] 32
PART NO. Thread E__[DN | A | C [ S1 D RING
14211-04-04 _[9/16”X18 6 [22.3]9.8] 17 [ 0011
14211-06-04 _[11/16”x16 | 6 | 24 [11.2] 19 [ 0012
14211-06-06 __ [11/16”x16 | 10 | 24 [11.2] 19 [ 0012
14211-08-06 _ [13/16”x16 | 10 [27.5[12.8] 22 [ 0014
A 14211-08-08 _ [13/16”x16 | 12 [28.5[12.8] 22 [ 0014
ot 14211-08-10 _[13/16”x16 | 16 [28.5[12.8] 22 | 0014
el 14211-10-08 _ [17x14 12 [32.5[15.5] 27 [ 0016
14211-10-10 _ [17x14 16 | 34 [15.5] 27 [ 0016
. 14211-12-08 _ [1.3/16”x12 | 12 [35.5] 17 | 32 [ 0018
] 14211-12-10 _ [1.3/16”x12 | 16 [36.5] 17 | 32 | 0018
14211-12-12 [1.3/16”x12 | 20 [36.5] 17 | 32 [ 0018
14211-16-12 [1.7/16”x12 | 20 | 37 [17.5] 38 [ 0021
14211-16-16__ [1.7/16”x12 | 25 [38.5[17.5] 38 | 0021
14211-20-20 _[1.11/16”x12] 32 [41.5[17.5] 46 | 0025
14211-24-24 _[2”x12 40 [43.5]17.5] 55 [ 0029
PART NO. Thread E__[DN [ A | ¢ [ sI
24211-04-04 _[9/16”X18 6 [22.5[8.5[ 19




w

i

|
(4.
|

1

Sh

- H—

T

o,

10
82

24211-04-05  [9/16”X18 8 122.5[ 8.5 ] 19
24211-04-06 _ [9/167X18 10 122.5[ 8.5 ] 19
24211-06-04T [11/16”x16 6 |23.5[ 10 22
24211-06-05T [11/16"x16 8 123.5[ 10 22
24211-06-06  [11/16"x16 10 |23.5[ 10 22
24211-06-08  [11/16"x16 12 | 26 10 22
24211-08-05T [13/16”x16 8 25 11 27
24211-08-06T [13/16”x16 10 | 25 11 27
24211-08-08  [13/16”x16 12 | 28 11 27
24211-08-10  [13/16”"x16 16 | 29 11 27
24211-10-08T [1”x14 12 129.5[13.5] 30
24211-10-10  [1”x14 16 133.5[13.5] 30
24211-10-12  [1”"x14 20 133.5]13.5[ 30
24211-12-08T [1.3/16"x12 [ 12 [30.5] 15 36
24211-12-10T [1.3/16"x12 [ 16 [31.5] 15 36
24211-12-12  |1.3/16"x12 | 20 | 35 15 36
24211-12-16  |1.3/16"x12 | 25 | 36 15 36
24211-16-12T [1.7/16"x12 | 20 | 35 |14.8] 41
24211-16-14T [1.7/16"x12 | 22 | 34 |14.8] 41
24211-16-16T [1.7/16"x12 | 25 | 35 | 14.8] 41
24211-16-20  [1.7/16"x12 | 32 [39.5]14.8] 41
24211-20-16T |1. 11/16”x12| 25 | 35 15 50
24211-20-20W_[1.11/16"x12[ 32 [39.5] 15 50
24211-20-24w_[1.11/16"x12[ 40 [39.5] 15 50
24211-24-20T [2”x12 32 | 36 |14.8[ 60
24211-24-24T [2"x12 40 | 36 | 14.8] 60
PART NO. Thread E DN A H C S2
24241-04-04  [9/16”X18 6 145.5[23.4] 8.5 19
24241-04-05  [9/16”X18 8 146.7[24.3] 8.5 19
24241-04-06 _ [9/16”X18 10 149.2(24.9] 8.5 19
24241-06-04T [11/16”x16 6 139.5[17.4] 10 22
24241-06-05T [11/16"x16 8 [42.3[ 19 10 22
24241-06-06  [11/16"x16 10 |51.7[27.4] 10 22
24241-06-08  [11/16"x16 12 163.9[ 29 10 22
24241-08-06T [13/16”x16 10 144.6[20.3] 11 27
24241-08-08  [13/16”x16 12 165.3[30.4] 11 27
24241-08-10  [13/16”"x16 16 |76.5[31.7] 11 27
24241-10-08T [1”x14 12 |58.2[23.3]13.5] 30
24241-10-10  [1”x14 16 179.7[134.9]113.5] 30
24241-10-12  [1”x14 20 186.5]38.4[13.5[ 30
24241-12-08T [1.3/16"x12 | 12 [58.2]23.3] 15 36
24241-12-10  [1.3/16"x12 | 16 [69.4]24.6] 15 36




24241-12-12  [1.3/16”x12 | 20 [87.6/39.5| 15 36
24241-12-16  [1.3/16”7x12 | 25 [95.3| 41 15 36
24241-16-12T [1.7/16”7x12 | 20 | 74 [29.6|14.8| 41
24241-16-14T [1.7/16”7x12 | 22 [78.7[28.5|14.8| 41
24241-16-16T [1.7/16”7x12 | 25 [84.1[29.7|14.8| 41
24241-16-20 [1.7/16”7x12 | 32 | 104 [ 46.1|14.8| 41
24241-20-16T |[1.11/16”x12] 25 [80.9]32.7| 15 50
24241-20-20W [1.11/16”x12] 32 [ 111 | 49 15 50
24241-20-24W [1.11/16”x12] 40 | 124 | 52.9| 15 50
24241-24-20T [27x12 32 194.5]133.8[14.8] 60
24241-24-24T [27x12 40 | 109 | 37.7[14.8] 60
PART NO. Thread E DN A C H S2
24291-04-04 19/16”X18 6 30 41 | 8.5 19
24291-04-05 19/16”X18 8 33 44 | 8.5 19
24291-04-06  19/16”X18 10 [35.5]46.3| 8.5 19
24291-06-05T [11/167x16 8 33 [37.5] 10 22
24291-06-06 [11/16”x16 10 [35.5149.8] 10 22
24291-06-08 [11/16”x16 12 | 41 55 10 22
24291-08-06T [11/16”x16 10 [35.3]139.8| 11 27
24291-08-08 [11/167x16 12 | 41 57 11 27
24291-08-10 [11/167x16 16 [56.5]61.5] 11 27
24291-10-08T [17x14 12 | 41 46 |13.5] 30
24291-10-10 [1”x14 16 [56.5] 66 |13.5] 30
24291-10-12 [17x14 20 165.5]75.5]13.5] 30
24291-12-10T [1.3/16”x12 | 16 [56.5|51.5| 15 36
24291-12-12  [1.3/16”7x12 | 20 [65.5| 77 15 36
24291-12-16 [1.3/16”x12 | 25 [75.7|83.5| 15 36
24291-16-12T [1.7/16”7x12 | 20 [65.5| 63 |14.8] 41
24291-16-14T [1.7/16”7x12 | 22 [71.2| 63 |14.8] 41
24291-16-16T [1.7/16”7x12 | 25 [76.9|67.5]|14.8| 41
24291-16-20 [1.7/16”7x12 | 32 [91.5] 96 |14.8| 41
24291-20-16T |[1.11/16”x12] 25 [76.7|67.5| 15 50
24291-20-20W [1.11/16”x12] 32 [ 93 | 100 | 15 50
24291-20-24W [1.11/16”x12] 40 | 109 | 114 | 15 50
24291-24-20T [27x12 32 191.5]78.5[14.8] 60
24291-24-24T [27x12 40 | 109 | 92 [14.8] 60
PART NO. Flange Size| DN A C D L
87311-08-08 1/2” 12 | 46 [30.2| 24 | 6.73
87311-12-08 3/4” 12 | 47 |38.1[31.7] 6.73
87311-12-10 3/4” 16 | 48 |38.1[31.7] 6.73




L : 87311 12 12 3/4”7__| 20 | 48 [38.1]3L.7] 6.73
L 87311-12-16 3/47__ | 25 | 49 |38.1]3L.7] 6.73
s — 873111612 1 20 | 51 |44.4] 38 | 8
= | [87311-16-16 1 25 | 52 |44.4] 38 | 8
‘J‘ LRI [s7311-16-20 17 32 | 53 |44.4] 38 | 8
— 873112016 1.1/4”_ | 25 | 57 |50.8] 43 | 8
873112020 1.1/4”_ | 32| 58 |50.8] 43 | 8
873112420 1.1/2” | 32| 68 [60.3] 50 | 8
8731124 24 1.1/2”_ | 40 | 68 |60.3] 50 | 8
87311 32 24 2" 20 | 70 [7L.4] 62 | 9.53
87311 32 32 2’ 50 | 70 |71.4] 62 | 9.53
PART NO. Flange Size| DN A C D H L
873410808 1/2” | 12 |58.2]30.2| 24 | 23.3 | 6.73
873411208 3/4”__| 12 [58.9]38.1]3L.7] 24 |6.73
873411210 3/47__| 16 [70.1]38.1]3L.7] 25.3 | 6.73
873411212 3/47__| 20 | 77 [38.1]3L.7] 28.9 | 6.73
| [87341-16-12 1 20 | 77 |44.4] 38 | 28.9| 8
873411616 1 25 |85.2]44.4] 38 | 29.7 | 8
873411620 1 32 |94.5]44.4] 38 | 33.8 | 8
\ 873412016 1.1/4” | 25 85.2]50.8] 43 | 29.7 | 8
; 873412020 1.1/4” | 32 |94.5]50.8] 43 | 33.8 | 8
873412420 1.1/2”_ | 32 ]95.9]60.3] 50 | 35.2 | 8
873412424 1.1/2”_| 40 | 109 [60.3] 50 | 39.1| 8
873413224 2" 40 | 110 |71 4| 62 | 39.1[9.53
873413232 2’ 50 | 129 [ 71.4] 62 | 46.3 | 9.3
PART NO. Flange Size| DN A C D H L
873910808 /2| 12| 41 [30.2] 24 | 47 |6.73
8739112 08 3/47_ |12 | 41 [38.1]3L.7] 48 |6.73
873911210 3/4”__ | 116]56.5|38.1]3L.7] 52.5 | 6.73
87391 12 12 3/4”__| 20 [66.2]38.1]|3L.7] 62 |6.73
8739112 12(H __ 3/4”__| 20 |65.5|38.1|3L.7] 100 | 6.73
87391-12-12(H] __ 3/4” | 20 |65.5]38.1|3L.7] 127 | 6.73
8739112 12(1 __ 3/4” | 20 |65.5|38.1|31.7] 150 | 6.73
8739112 16 3/4”__| 25 [76.7]38.1]31.7] 67.5 | 6.73
873911612 1 20 |66.2]44.4] 38 | 62 | 8
873911616 1 25 | 78 |44.4| 38 | 67.5 | 8
87391-16-16(H] 1" 25 |76.7]44.4] 38 | 100 | 8
87391-16-16(H] 1" 25 |76.7]44.4] 38 | 127 | 8




(L A
-

/i

87391-16-16 (H1 17 20 | 76.7]44.4| 38 150 8
87391-16—-20 17 32 191.5144.4] 38 | 78.5 8
87391-20-16 1.1/4” 20 | 78 150.8| 43 | 67.5 8
87391-20-20 1.1/4” 32 191.5]150.8] 43 | 78.5 8
87391-20-20(H] 1.1/4” 32 191.5]50.8| 43 100 8
87391-20-20(H] 1.1/4” 32 191.5]50.8| 43 127 8
87391-20-20(H] 1.1/4” 32 191.5]50.8| 43 150 8
87391-20-24 1.1/4” 40 | 109 | 50.8| 43 | 78.5 8
87391-24-20 1.1/27 32 191.5]160.3] 50 | 80.5 8
87391-24-24 1.1/27 40 | 109 | 60. 3| 50 94 8
87391-24-24(H]| 1.1/2” 40 | 109 | 60. 3| 50 127 8
87391-32-24 27 40 | 109 | 71.4] 62 94 19.53
87391-32-32 27 50 | 132 |1 71.4| 62 |114.3]9.53
87391-40-32 2.1/2” 50 | 132 |184.1|74.4]114.39.53
PART NO. Flange Size| DN A C D L
87611-08-08 1/2” 12 | 47 |31.7) 24 | 7.75
87611-12-10 3/4” 16 | 51 [41.3f 32 | 8.76
87611-12-12 3/4” 20 | 51 |41.3] 32 | 8.76
87611-16-12 17 20 | 56 |147.6] 38 | 9.53
87611-16-16 17 20 | 57 147.6] 38 | 9.53
87611-16—-20 17 32 | 61 147.6] 38 | 9.53
87611-20-16 1.1/4” 25 | 65 54 44 110.29
87611-20-20 1.1/4” 32 | 66 54 44 110.29
87611-24-20 1.1/27 32 | 75 |163.5| 51 |12.57
87611-24-24 1.1/27 40 | 75 |63.5| 51 |12.57
87611-32-24 27 40 | 85 | 79.4| 67 |12.57
87611-32-32 27 50 | 85 |79.4| 67 |12.57
PART NO. Flange Size| DN A C D L
87641-08-08 1/2” 12 [58.9| 24 24 | 7.75
87641-08-12 1/2” 20 | 74.9] 24 |27.5] 7.75
87641-12-10 3/4” 16 [72.5] 32 [28.2] 8.76
87641-12-12 3/4” 20 179.2] 32 |31.8] 8.76
87641-16-16 17 25 190.2] 38 |34.7] 9.53
87641-20-20 1.1/4” 32 | 104 | 44 [41.5]10.29
87641-24-20 1.1/27 32 | 106 | 51 [45.1]12.57
87641-24-24 1.1/27 40 | 116 | 51 [45.5]12.57
87641-32-24 27 40 | 125 | 67 [54.7]12.57
87641-32-32 27 50 | 136 | 67 [52.7]12.57




PART NO. Flange Size| DN A C D H L
87691-08-08 1/2” 12 | 41 [31.7] 24 48 | 7.75
87691-12-10 3/4” 16 [56.5]41.3| 32 | 56.5 | 8.76
87691-12-12 3/4” 20 |166.2]41.3| 32 66 | 8.76
87691-16-12 17 20 |166.2]47.6| 38 69 |9.53
87691-16-16 17 20 | 78 147.6| 38 | 74.5 [ 9.53
87691-16—-20 17 32 191.5]147.6| 38 | 85.5 [9.53
87691-20-16 1.1/4” 20 | 78 54 44 | 78.5 [10.29
87691-20-20 1.1/4” 32 |91.5] 54 44 | 89.5 [10.29
87691-24-20 1.1/27 32 191.5163.5| 51 | 94.5 [12. 57
87691-24-24 1.1/27 40 | 109 | 63.5| 51 108 |12.57
87691-32-24 27 40 | 109 | 79.4| 67 116 |12.57
87691-32-32 27 50 | 132 179.4| 67 |136.3[12.57
PART NO. Thread E DN A d D H
70011-12-04 [M12.X1.5 6 [20.5]12.1[ 20 12
70011-12-05 [M12.X1.5 8 [20.5]12.1[ 20 12
70011-12-06  [M12.X1.5 10 [20.5]12. 1] 20 12
70011-14-04 |M14X1.5 6 21 [14.1] 24 14
70011-14-05 [M14X1.5 8 21 [14.1] 24 14
70011-14-06  [M14X1.5 10 [ 21 [14.1] 24 14
70011-16-04 [M16X1.5 6 [20.5]16.1| 28 16
70011-16-05 [M16X1.5 8 [20.5]16.1| 28 16
70011-16-06  |[M16X1.5 10 [20.5]16.1] 28 16
70011-18-04 |M18X1.5 6 23 [18.1] 32 20
70011-18-05 |M18X1.5 8 24 [18.1] 32 20
70011-18-06  |M18X1.5 10 [ 24 |18.1] 32 20
70011-18-08 |M18X1.5 12 [24.5]18. 1] 32 20
70011-22-06  [M22X1.5 10 [28.1]22.1] 39 25
70011-22-08 |M22X1.5 12 [28.5]22.1] 39 25
70011-22-10 [M22X1.5 16 | 28 [22.1] 39 25
70011-26—-12 |M26X1.5 20 132.5]22.1| 46 30
70011-30-16  [M30X1.5 20 | 37 130.1[ 54 36
70011-30-20 [M30X1.5 32 | 40 130.1[ 54 36




PART NO. DN L

90012-04 6 83

: 90012-05 8 87

T z 90012-06 10 87
‘ — 90012-08 12 91
HMMMMUﬂLU4JJUJMMMMM,A 90012-10 16 97
- 90012-12 20 110

- L » [90012-16 25 134
90012-20 32 153

9001224 40 172

90012-32 50 178




